
 
Find a closed form: 

𝑰 = ∫ 𝑳𝒊𝟑(−𝒙𝟐)(𝟏 − 𝒙𝟐)𝒙 +
𝒙𝒍𝒏(𝟏 + 𝒙)

𝒙𝟐 + 𝟏

𝟏

𝟎

 𝒅𝒙 

Proposed by Shirvan Tahirov-Azerbaijan 

Solution by Pratham Prasad-India 

𝑰 =
𝟏

𝟐
∫ 𝑳𝒊𝟑(−𝒙)(𝟏 − 𝒙)𝒅𝒙 + ∫

𝒙𝒍𝒏(𝟏 + 𝒙)

𝒙𝟐 + 𝟏

𝟏

𝟎

𝟏

𝟎

 𝒅𝒙 

𝑰 =
𝟏

𝟐
∫ 𝑳𝒊𝟑(−𝒙)

𝟏

𝟎

𝒅𝒙 −
𝟏

𝟐
∫ 𝒙𝑳𝒊𝟑(−𝒙)

𝟏

𝟎

𝒅𝒙 + ∫
𝒙𝒍𝒏(𝟏 + 𝒙)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 

𝑰 =
𝟏

𝟐
𝑨 −

𝟏

𝟐
𝑩 + 𝑪  

𝑾𝒉𝒆𝒓𝒆, 

𝑨 = ∫ 𝑳𝒊𝟑(−𝒙)
𝟏

𝟎

𝒅𝒙, 𝑨 =  𝑳𝒊𝟑(−𝟏) − ∫ 𝒙 (
𝑳𝒊𝟐(−𝒙)

𝒙
) 𝒅𝒙

𝟏

𝟎

 

𝑨 =  𝑳𝒊𝟑(−𝟏) − ∫ 𝑳𝒊𝟐(−𝒙)𝒅𝒙
𝟏

𝟎

, 𝑨 =  𝑳𝒊𝟑(−𝟏) − 𝑳𝒊𝟐(−𝟏) + 𝟏 − 𝟐𝐥𝐧 (𝟐) 

𝑨 =  −
𝟑

𝟒
𝜻(𝟑) +

𝝅𝟐

𝟏𝟐
+ 𝟏 − 𝟐𝐥𝐧 (𝟐)  

𝑩 = ∫ 𝒙𝑳𝒊𝟑(−𝒙)
𝟏

𝟎

𝒅𝒙 

𝑩 =
𝟏

𝟐
𝑳𝒊𝟑(−𝟏) − ∫

𝒙𝟐

𝟐

𝟏

𝟎

(
𝑳𝒊𝟐(−𝒙)

𝒙
) 𝒅𝒙, 𝑩 =

𝟏

𝟐
𝑳𝒊𝟑(−𝟏) −

𝟏

𝟐
∫ 𝒙𝑳𝒊𝟐(−𝒙)

𝟏

𝟎

𝒅𝒙 

𝑩 =
𝟏

𝟐
𝑳𝒊𝟑(−𝟏) −

𝟏

𝟐
(

𝟏

𝟐𝟒
(𝟑 − 𝝅𝟐)) , 𝑩 = −

𝟑

𝟖
𝜻(𝟑) −

𝟏

𝟏𝟔
+

𝝅𝟐

𝟒𝟖
 

𝑪 = ∫
𝒙𝒍𝒏(𝟏 + 𝒙)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙, 𝑪 = ∫
𝒙𝟐

𝟏 + 𝒙𝟐

𝟏

𝟎

∫
𝟏

𝟏 + 𝒙𝒚
𝒅𝒚

𝟏

𝟎

𝒅𝒙 

𝑪 = ∫ ∫
𝒙𝟐

(𝟏 + 𝒙𝟐)(𝟏 + 𝒙𝒚)

𝟏

𝟎

𝒅𝒙
𝟏

𝟎

𝒅𝒚 

𝑪 = ∫
𝒚

𝟐(𝟏 + 𝒚𝟐)
𝐥𝐧 (𝟐)

𝟏

𝟎

+
𝐥𝐧(𝟏 + 𝒚)

𝒚(𝒚𝟐 + 𝟏)
−

𝝅

𝟒(𝟏 + 𝒚𝟐)
𝒅𝒚 



 

𝑪 =
𝟏

𝟒
𝐥𝐧𝟐(𝟐) + ∫

𝐥𝐧(𝟏 + 𝒚)

𝒚(𝒚𝟐 + 𝟏)
𝒅𝒚

𝟏

𝟎

−
𝝅𝟐

𝟏𝟔
 

𝑪 =
𝟏

𝟒
𝐥𝐧𝟐(𝟐) + ∫

𝐥𝐧(𝟏 + 𝒚)

𝒚
𝒅𝒚 − ∫

𝒚 𝐥𝐧(𝟏 + 𝒚)

(𝒚𝟐 + 𝟏)
𝒅𝒚

𝟏

𝟎

𝟏

𝟎

−
𝝅𝟐

𝟏𝟔
 

𝑪 =
𝟏

𝟒
𝐥𝐧𝟐(𝟐) + ∫

𝐥𝐧(𝟏 + 𝒚)

𝒚
𝒅𝒚 − 𝑪

𝟏

𝟎

−
𝝅𝟐

𝟏𝟔
 

𝟐𝑪 =
𝟏

𝟒
𝐥𝐧𝟐(𝟐) +

𝝅𝟐

𝟏𝟐
 −

𝝅𝟐

𝟏𝟔
, 𝟐𝑪 =

𝟏

𝟒
𝐥𝐧𝟐(𝟐) +

𝝅𝟐

𝟒𝟖
 , 𝑪 =

𝟏

𝟖
𝐥𝐧𝟐(𝟐) +

𝝅𝟐

𝟗𝟔
 

Putting everything back in, 

𝑰 =
𝟏

𝟐
𝑨 −

𝟏

𝟐
𝑩 + 𝑪  

𝑰 =
𝟏

𝟐
(−

𝟑

𝟒
𝜻(𝟑) +

𝝅𝟐

𝟏𝟐
+ 𝟏 − 𝟐 𝐥𝐧(𝟐)) −

𝟏

𝟐
(−

𝟑

𝟖
𝜻(𝟑) −

𝟏

𝟏𝟔
+

𝝅𝟐

𝟒𝟖
) + (

𝟏

𝟖
𝐥𝐧𝟐(𝟐) +

𝝅𝟐

𝟗𝟔
)  

Simplifying, 

𝑰 = −
𝟑

𝟏𝟔
𝜻(𝟑) +

𝝅𝟐

𝟐𝟒
+

𝟏𝟕

𝟑𝟐
− 𝐥𝐧(𝟐) +

𝟏

𝟖
𝐥𝐧𝟐(𝟐) 

∫ 𝑳𝒊𝟑(−𝒙𝟐)(𝟏 − 𝒙𝟐)𝒙 +
𝒙𝒍𝒏(𝟏 + 𝒙)

𝒙𝟐 + 𝟏

𝟏

𝟎

 𝒅𝒙 = −
𝟑

𝟏𝟔
𝜻(𝟑) +

𝝅𝟐

𝟐𝟒
+

𝟏𝟕

𝟑𝟐
− 𝐥𝐧(𝟐) +

𝟏

𝟖
𝐥𝐧𝟐(𝟐)  

 

 


